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GENERAL STUDIES 

GENERAL APTITUDE & MENTAL ABILITY 
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  x =  16  

 A      B                  12         B      C        
    15         A      C            20              . 
                                               . 

   : 

 (A + B)  12 

   (A + B)  =  
1

12
  ---- 1 

 (B + C)  15  

  (B + C)  =  
1

15
  ---- 2 

 (A + B)  20  

   (A + C) = 
1

20
  ---- 3 

  1 + 2 + 3   

 [(A+B)+(B+C)+ (A+C)]  = 
1 1 1

12 15 20
   

 (2A + 2B + 2C)  1  = 
5 4 3

60 60 60
   

 2 (A + B + C)  =  
5 4 3

60

 
 

 (A + B + C)    = 
12 1

60 2 10



 

 = (

       = 
1 1

10 15
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    

B = 

    = 
1 1

10 20
  

    = 
1

20
 

  

C  = (A + B +C)  - (A + B)  

    = 
1 1

10 12
  = 

1

60
 

   . 

 I, II      III                           15%, 20%      
25%    , ₹15000    3                              . 

   : 

   (P)  = ₹15000 

 1 (a) =  15%   

 2 (b) =  20% 

 3 (c) =  25% 

A = 

1 1 1

1 1 1
100 100 100

a b c
P
     
       

     
 

 A = 
15 20 25

15000 1 1 1
100 100 100

   
     

   
 

 = 
115 120 125

15000
100 100 100

    

 = ₹ 25,875 

 

    =  25,875 – 15,000 

= ₹ 10,875 
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 13 1/3%          ,                                   
            , ₹3375     ₹4096        ?

   : 
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      r  =  
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  r  = 

40

203
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  % 
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1
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n
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P
 
 

 
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2
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 
 
 

 
 

 

  
4096
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 = 

2
1

1
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n

 
 

 
 

  
4096

3375
 = 

2
16

15

n

 
 
 

 

, 

  

2

316

15

n

 
 
 

=  

3
16

15

 
 
 

 

   
2

3

n
 =  1 

       n = 1.5 
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 15%          , 3                          
                          ₹1134    ,           . 

   : 

 C.I. – S. I. = 

2
300

100 100

r r
P

   
   
   

 

  1134 = 
15 15 315

100 100 100
P    

 ₹ 16000  = P 

 ₹5000     2%          ,                       
           ,                                     
                        . 

      

Solution : 

  P = ₹ 5000, n =  

  r =  r = 1% 

  C.I. – S. I. = 

2

100

r
P
 
 
 

 

= 
1 1

500
100 100

   

= ₹ 0.5 

                  , 40                150        540 
                   (Motor Pumps)                          
            . 75             ,            180          
                           .                     
                    ,                            
             ? 
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540 150 40 

180 75 40 

360 75 40 + x 

  40 + x  = 
40 360

75180
75




 

   40 + x = 80 

     x = 40 

               7        24                          
                  .                        4     ,     
        . 

 (l) (b) = rl  

l  = 2 2h r  

= 2 224 7  

= 625  

= 25 m 

    4l  =  
22

7 25
7
   

      l  = 137.5 m 
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5720  . 2                                    . 5   .      , 
12   .                                       ? 

   : 

   (r) = 5  

   (h) = 12  

        l  = 2 2h r  

= 2 212 5  

= 169  

= 13  

  C.S.A.  = rl  

=  
22

5 13
7
    

 

   = 5720 
 2
 

  =  
                      

                               

= 
5720

22
5 13

7
 

 

= 28  

                                          . -           
₹ 0.14            .                                   20 
  .       28   .     ,                            
       ? 

   : 

   = 
28

2
  = 14  
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   = 22 R  

= 
22

2 14 14
7

    

= 1232 
2
   ---- 1  

    =  
20

2
     = 10  

  = 
22 r  

= 
22

2 10 10
7

    

= 628.57 
2 

---- 2  

    =  2 2R r   

=  2 222
14 10

7
   

= 301.714 
2 
 ---- 3  

    = 1 2 3   

=  1232 + 628.57 + 301.74 

= 2162.284 
2
 

    = 14 P /
2
 

   = 14 2162.284  

       = 30,271.976  

     = 
30271.976

100
 

= ₹ 302.72 
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                        .                             
 4 -           
 10 -ஐ             
 13 -ஐ                                 . 

 

 

 
   : 

 (S) 

    S =  

(1,1), (1,2), (1,3), (1,4), (1,5), (1,6)

(2,1), (2,2), (2,3), (2,4), (2,5), (2,6)

(3,1), (3,2), (3,3), (3,4), (3,5), (3,6)

(4,1), (4,2), (4,3), (4,4), (4,5), (4,6)

(5,1), (5,2), (5,3), (5,4), (5,5), (5,6)

(6,1), (6,2), (6,3), (6,4), (6,5), (6,6)

 
 
 
 
 
 
 
 
   

i)  

    B = 
 (1,3),(2,2),(3,1)

 

    n(B) =  3 

    P(B) = 

( ) 3

( ) 36

n B

n S
 

1

12  

ii)  

    C = 
 (5,6),(6,5),(6,6)

 

    n(C) =  3 

     P(C) = 

( ) 3

( ) 36

n C

n S
 

1

12  

iii)  

    n(D) =  n(S) 

     P(D) = 

( )

( )

n D

n S
 1

 



11 

 

 

 

 

                                               .  
                                 
                                       
                                  
                 1-        

                            . 

   : 

    S =  

(1,1), (1,2), (1,3), (1,4), (1,5), (1,6)

(2,1), (2,2), (2,3), (2,4), (2,5), (2,6)

(3,1), (3,2), (3,3), (3,4), (3,5), (3,6)

(4,1), (4,2), (4,3), (4,4), (4,5), (4,6)

(5,1), (5,2), (5,3), (5,4), (5,5), (5,6)

(6,1), (6,2), (6,3), (6,4), (6,5), (6,6)

 
 
 
 
 
 
 
 
 

 

    n(S) =  36 

i)  

    A =  (1,1),(2,2),(3,3),(4,4),(5,5),(6,6)  

    n(A) = 6 

     P(A) = 
( ) 6

( ) 36

n A

n S
 

1

6
 

ii) 

    B =  (1,2),(2,3),(1,5),(3,1),(5,1),(2,1)  

    n(B) = 6 

     P(B)  = 
( ) 6

( ) 36

n B

n S
 

1

6
 

iii)   

   C = 
(1,1), (1,2), (1,4), (1,6), (2,1), (2,3), (2,5), (3,4)

(3,2), (4,1), (4,3), (5,2), (5,6), (6,1), (6,5)

 
 
 
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    n(C) = 15 

     P(C)  = 
( ) 15 5

( ) 36 12

n C

n S
   

 

iv)   

    D =  

     P(D) =  0 

                                        .           
      400                            120     .      
                                                     
                                    .

   : 

 = 4    

     = 400  

  = 100  

  AC = 120  

 ABC , a = 100 , b = 100 , c = 120  

    S = 
100 100 120

2 2

a b c   
  = 160  

 ABC  = ( )( )( )S S a S b S c     

= 160(160 100)(160 100)(160 120)    

= 4800 
 2 

              10%           5        ₹10,050           
   ,           

   : 

 = ?,  n = 5, r = 10%,  (A) =  10,050 
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    A =  1
100

nr
P
 
 

 
 

    10,050 = 
5 10

1
100

P
 

 
 

 

= 
50

1
100

P
 
 

 
 

= 
150

100
P
 
 
 

 

=  
3

2
P
 
 
 

 

    P = 10,050 
2

3
  =  6700 

    -   

- B 

                   250                         . 

Note   

                                 . 
   

                                                   

              . 

    

(10 x 15 = 150) 

            52                                
            .                    

 3              
                                 
        ,                                         
    . 

 

 

 
   : 
 

   3 = n(S) 

= 52 C3 
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= 22100 

a) 

 

   = 1 3( ) 13 286n A C 
 

 , 

1
1

( ) 286
( )

( ) 22100

n A
P A

n S
 

 

b) 

  

  = n(A2) = 13   78 = 1014 

  P(A2) = 2( ) 13 78

( ) 22100

n A

n S


  

   P(A2) = 
1014 507

22100 11050
  

c) 

     n(A3) = 13C1 13 C1   13 C1 = 13 13   13 

   P(A3) = 3( ) 13 13 13

( ) 22100

n A

n S

 
  

   P(A3) = 
2197

22100
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                     11                 260         , 
90                 , 120                        50     
                           .                        
                 .                  (i)              , (ii) 
                             , (iii)            , (iv) 
          , (v)                .                        
    . 

   : 

  n (S) = 260 

 

  

 n(A) = 90 ; n(B) = 120 ; n(AB) = 50 

    P(A) = 
( ) 90

( ) 260

n A

n S
  

P(B) = 
( ) 120

( ) 260

n B

n S
  

P(AB)= 
( ) 50

( ) 260

n A B

n S
  

i)    

 P(AB)= P(A) + P(B) – P(AB) 

     = 
90 120 50 160 8

260 260 260 260 13
     

ii)  

( )P A B  = ( )P A B  

= 1 – (A B) 

= 
8 5

1
13 13

   
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iii)  

( )P A B  = P(B) – P(A B) 

=  
120 50 70 7

260 260 260 26
    

iv)  

( )P A B  = P(A) – P(A B) 

=  
90 50 2

260 260 3
   

v) 

 ( ) ( )P A B A B    = ( ) ( )P A B P A B  

=  
70 40 110 11

260 260 260 26
    

             5           7                   .        
         6           9                  .      
                                               .    
                              . 

 

5 7 12 

6 9 15 

 

    = 2 

 = 
1

2
 

 

    1  = 
1 7

2 12

  
  
  

 

 

2  = 
1 9

2 15

  
  
  
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      = 
1 7 1 9

2 12 2 15

     
     

     
 

= 
71

120
 

                         ,                       . 
         ,                    10          4      .     
     4      ,                                          
    . 

  

 = 5 ; 

     = 4  

   = 2  

     = 4  

     l =   
2 2( )h R r   

 =  
2 24 (5 2)   

l =  16 9  = 25  = 5  

(C.S.A) = ( )R r l    

 =  222
(5 2) 5 110

7
m    

 (T.S.A) =  2 2( )R r l R r       

 =  
22

(5 2)5 25 4
7

    

 = 201.14 

 C.S.A.=110  
2
  T.S.A. = 201.14 

 2 
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                               3√ 3 4:       . 

 = 2

14 r   

 = 2

23 r   

  = 2

14 r  : 2

23 r  

l = 
2

1

2

2

4

3

r

r




 

l = 
2

1

2

2

4

3

r

r
 

  
2

1

2

2

r

r
 = 

3

4
 

2 2

1 2 : r r  =  3 : 4 

1 2 : r r  = 3  : 2 

=  3 3

1 2

4 2
:

3 3
r r   

=     3 3

1 22 :r r  

=   
3

2 3  : 32  

= 2 3 3      : 8  |   2  

= 3 3   : 4 
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      16   .                                          
                           .           8   .             
    20   .                                        .    
              ₹40    ,                                . 

   : 

   (h) = 16  

   (R) = 20  

  (r) = 8  

  

= 2 21

3
h R r Rr       

= 2 21 22
16 20 8 20 8

3 7
         

=  
1 22

16 400 64 16
3 7
      

= 
73216

7
 

=  10459.43 cm
3
 

= 
10459.43

1000
 litre 

= 10.45943 litre 

 = 10.459   40 

      = ₹ 418.36 

 ₹ 418.36 
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 P      Q                        12      15        
     . P                                   , 3       
     Q                                          
          ,                           ?

   : 

  
1

12
  

 Q 
1

15
  

 
1 1

3
12 4

   . 

  
1 3

1
4 4

 
  

 
 

 
1 1 9 3

12 15 60 20

 
   

 
 

. 

 
20 3

3 4

 
 

 
 = 5 

 

  (5 + 3) = 8  

P                      ½       6        , Q       
                2/3       4              .       
                 3/4                         ?  

   : 

  
1

2
  

   
6

6 12
1

2

   = 12  



21 

 

 

 

 

2

3
  

  
4 3

4
2 2

3

   = 6  

 (P + Q)  
ab

a b
  = 

12 6 12 6

18 15

 
   

         = 4  

 (P + Q)  
3

4
 

3
4

2
 = 3  

 X                      6        , Y                
       8              . X      Y                   
₹48000                . Z                         
       3                  ,         Z             ? 

   = 
1

6
 

  = 
1

18000
6
  = ₹ 8000  

  = 3   8000 = ₹ 24000 

 

  = 
1

8
 

  = 
1

48000
8
  =  6000 

  =  6000   3 =  18000 

 (X + Y)  =  24000 +  18000 =  42000 

 

    =  48000 -  42000 =  6000 
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                        2                  1.69 
             ,                . 

   : 

 

    1
100

n
r 

 
 

 

    1.69 P = 

2

1
100

r
P
 
 

 
 

   

2

1
100

r 
 

 
 = 

1.69P

P
 = 1.69 

   

1.69  = 1
100

r
  

1
100

r
 = 1.3 

100

r
  = 1.3 

r = 30% 

32                12                            15 
                ,                                
          10                  24             ?   

   : 

(D) (H) (P) 

15 12 32 

25 10 x 

 

 Let, 1 32P  , 2P x , 1 12H  , 2 10H    
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1 15D  , 2 24D  , 

1 1w  ,
2 1w   

 , 

1 1 1

1

P D H

w

 
 = 2 2 2

2

P D H

w

 
 

32 15 12

1

 
 = 

24 10

1

x 
 

 x = 
35 15 12

24 10x

 

 
 

 x = 24  

 

 

                                        . 
     = ₹4000,             r = 5%, n=2      ,          

                   . 
     = ₹5000,             r = 4%, n = 1 ½      , 
                                . 

     = ₹30000                  , r = 7%            
        r = 8%                              . 

     = ₹10000,             r = 8%, n = 2 ¾      , 
                               . 

 

 

 

 

   : 

 i) ,   A = 1
100

n
r

P
 
 

 
 

=        
 

   
 
 
  

=      
  

  
 
  

  
  

=  4410 
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   C.I. = A – P = 4410 – 4000 =  410 

 ii) ,   A= 

2

1
100

n
r

P
 
 

 
 

=        
 

   
 
  

 

 
  

=      
  

  
 
  

  
 
  

  
  

= 51   10.2   10.2 

=  5306.04 

   C.I. = A – P  

    = 5306.04 – 5000  

    =  306.04 

 iii) ,   A = 1 1
100 100

a b
P
  
   

  
 

    =        
 

   
    

 

   
  

   A =  34668 

   C.I. = A – P  

    = 34668 – 30000 

    =  4668 

 iv) ,   A = 

2

1 1
100 100

b rr cP
      
  
 

 

    =        
 

   
 
 
   

 

 
  

   
   

    = 10000 
  

  
 
 
 
  

  
  

   A =  12363.84 

   C.I. = A – P  

    = 12363.84 – 10000 

    =  2363.84 
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                                2        ₹ 6,200     , 3 
       ₹6,800                               ,     
            .

   : 

 ₹ 6200 

  =  6200 

  6800 

 =  6800 

   

     =  6800 –  6200 =  600 

= 600 x 2 =  1200 

  =  6200 –  1200 =  5000 

     SI = 
100

pnr
 

    1200 = 
5000 2

100

r 
 

    12 % = r 

 ₹

                         ₹ 5,000 ஐ 2                
        ₹3,000ஐ 4                                 .    
         ₹2,200ஐ                      ,                . 

   : 

    SI = 1 1 2 2

100 100

p n r p n r
  

2200 = 
5000 2 3000 4

100 100

r r   
  

2200 = 100 r + 120 r 
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2200 = 220 r 

   10% = r  

 14   .                  15  .  /                 50       
     44                                                . 
                        21   . -       . 

   : 

 

 i)  

  

 = 
14

2
 = 7  = 

7

100
  

  

    = 
2r h  

= 
22 7 7

7 100 100
h    

h = 
22 7 3

100 100

h


 

 ii)  

   l = 500  

  b = 44 , h = 21  = 
21

100
  = 0.21  

  = lbh cu.u. 

=  
21

50 44
100

   

= 
221 21m  
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22 7

100 100

h


 =  22 21  

 h = 3 10000   

  = 
30000

1000
  = 30  

 

 
30

15
 = 2   

 


